WILDERNESS

Accessories
MFG. BY GARVIN INDUSTRIES

WILDERNESS JEEP
SWING AWAY TIRE SYSTEM

Ax and Shovel Mounting Brackets

General Assembly Drawing E

Part No. 34950

Shovel must be on top mount and ax on the lower mount.

1" Diameter ! 3/B Flat Washer
Shovel must 3/8" USS Flat Washer 3/B Lock Washer
go on top ® 3/8 Wingnut —— 3/8 Nut

brackets.

3/8 x 2-1/2 Carriage Bolt

N - ORI ] )

on bottom [
brackets. Acor #° A

] !

1]

. Welded mounts
Shovel s | on Swing Away

Jf.
handle *, -~ System.
\

-

I - R —— - é”@ HARDWARE LIST

4 - Inside mounting brackets
e 4 - Qutside brackets
% ﬁ 8-3/8" x 2-1/2" Carriage bolts
Outside Inside 8 - 38" Wingnuts
Bracket Mounting 8-3/8" Nuts
Bracket 16 - 3/8" Flat washers 1" dia.
/) 8- 3/8" Lock washers




